Spelling Friday 8™ Jan

Suﬁx shun



Resource 6e Assessment

1. Complete the sentence below with a noun formed from the verb invent.

The scientist thought that her latest would solve the

problem.

2. Complete the sentence below with a noun formed from the verb collide.

The two cars had a on the busy road.

3. Draw a line to match each root word with a suffix to make four new

words. Use each suffix only once.

Root Suffix
opti * I SSION
compa 1 cian

Using the rules that you
have learnt this week,
complete the
assessment to see how
you have done.

Check your answers and
spellings on the next

page.



1. invention

2. collision

3.

Root

ELE




